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(APPLICATION ORIENTED COURSE)

AHE-01 : HUMAN ENVIRONMENT

Time : 3 Hours Maximum Marks : 100

Note : (i) Attempt six questions in all.

(it) Question No. 1 is compulsory.

(iti) Attempt any five questions from

Question Nos. 2 to 7.

1. (a) Define the following terms : 5x1=5
(1) Ecosystem

(11) Commensalism

P.T.O.

(b)

(c)
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(ii1) Ore
(iv) Climate
(v) Mixed-Cropping
Fill in the blanks : 5x1=5

(1) e species are those which are
not endangered at present but are at

risk because of low numbers.
(11) DDT is an example of ................ .

(11) cevvrrreeeeeenns are compounds made up of
Carbon and Hydrogen.
AV) e, soil contains excess sodium

carbonate and sodium bicarbonate.

(v) Shore-line between land and open seas

is known as ..c..coeee.... zone.

Choose the correct alternatives from the

two provided in the brackets : 5x1=5

(1) The overall objective of Ganga Action

Plan is to achieve the bathing water



(d)
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quality standard of dissolved oxygen of
5 mg/L (minimum/maximum) over the

stretch of the river.

(1)) Sun-rays are much more slanting
during (winter/summer).

(111) Desertification and deforestation are
(closely/distantly) related
phenomenon.

(iv) (Carbon dioxide)/Carbon monoxide) is

one of major pollutant from

automobile exhaust.

(v) The entire population of given area

constitute a (biosphere/biotic

community).

State whether the following statements are

True (T) or False (F) : 5x1=5
(1) Technology has helped us in our
struggle for survival and made us

prosper.

P.T.O.

(e)
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(1) BOD denotes the amount of oxygen
taken up by the microorganisms in a

sample of water.

(111) The UNO has recommended that
member countries regard all places
with more than 20,000 inhabitants

living closely as urban.

(iv) Carnivores feed on autotrophs.

(v) The Bay of Bengal and the Arabian
Sea are located in the western and
the eastern coasts of Indian sub-

continent.

Differentiate between any two of the

following pairs : 2x2.5=5

(1) Flocculation and Sedimentation
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(11) Direct transmission of diseases and

indirect transmission of diseases

(111) Competition and Parasitism

Differentiate between nature and man-made
environment. List and discuss any three abiotic

environmental factors. 15

Describe the causes and effects of land
degradation. Describe two important remedial

measures for preventing land degradation. 15

Discuss food related health problems. 15

(a) Comment on the concept of sustainable

development. 5

(b) Compare the characteristics of Frontier

and Sustainable societies. 10

P.T.O.

(a)

(b)

(a)

(b)
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What is meant by carrying capacity of a
region ? Comment on its essential

elements. 10

Discuss the effects of over-exploitation of
biological environment with the help of a

case study on Thar desert. 5

Define the term ‘Cancer’. Enumerate and

explain four principal categories of cancer.

6

Discuss the affect of smoking, drinking and

drugs on human health. 9
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